
Problems - 9.3
(1) Show that the sequence {fn} converges to f for each x in I. Determine whether or not
the convergence is uniform.

fn(x) =
2x

1 + nx
, f(x) = 0, I = [0, 1]

(4) Show that the sequence {fn} converges to f for each x in I. Determine whether or not
the convergence is uniform.

fn(x) =
n3x

1 + n4x2
, f(x) = 0, I = [1,∞)

(5) Show that the sequence {fn} converges to f for each x in I. Determine whether or not
the convergence is uniform.

fn(x) =
nx2

1 + nx
, f(x) = x, I = [0, 1]
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